=4 Replaces R&R Products Greens Max

gﬂ 2200LP Parts
Traction Unit

~ Steering Arm

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces R&R Products Greens Max

ﬂﬁﬂ 2200LP Parts

Traction Unit

~ Steering Arm

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
Hoses
1 R100-4892 Hydraulic Hose Assy 1
2 R105-4337 Hydraulic Hose Assy 1
3 R105-4339 Hydraulic Hose Assy 1
4 R105-4340 Hydraulic Hose Assy 1
5 R112-0273 Hydraulic Hose Assy 1
Other Parts Available
10 R150946 Wheel - Steering 14 in 1
11 R150267 Cap - Steering Wheel 1
R24-15-BD,
12 R3256-27 E?-Zcﬁgio' Washer - Flat 5/8 SAE 1
R7-2178
13 R93-8063 R83-1790 Decal - Warning Ce 1
14 R114-4693-03 Steering Mount Assy 1
15 R105-0457 Plate-Friction 1
323-7,

R0O1-150-0180,
R01-178-0610,
R19H1732,
R20-48-AD,
R20-48-AGD,
R32-9160,
R3224-3,
R323-29,
R323-7,
R400264,
R908035P

16 R400264 Bolt- Hex HD 3/8-16 x 1-1/4 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces R&R Products Greens Max
ﬂﬁﬂ 2200LP Parts

Traction Unit
~ Steering Arm

Item R&R OEM Qty Order

No Part No. Part No. Description Req Quantity
RO1-163-0100,

17 R3241-2 R31-6770, Screw - Set Sq.HD. 1/4 x 5/8 2
R3241-1

18 R105-4313 R119-3587 Lever Assy - Incl Plastic Cap 1

20 R105-4326 Bolt - Hx HD LH 3/8-16 x 2 1
R32140-81,

21 R32144-10 R32144-3, Bolt - 1/4-20 x 3/4 Serrated Hx Wshr 4

R34-140-AMVD

22 R105-0433G Channel-Step - RH - Green 1

23 R105-8282G Side Shield Assy - Green 1

25 R83-1700 Bushing - Flanged - Plastic 1

30 R105-0484 R117-9513 Knob - Steering 1

31 R3290-467 Pin-Hair 1

32 R47-2890 R256-110 Bushing 2
3256-26,

RO1-166-0540,
RO1-166-0820,
R17-2530,
R24-13-BD,
R30-8570,
R356206,
R48-9390

33 R3256-26 Washer - 1/2 in 2

325-6,
RO1-150-0090,
R01-178-0812,
R20-87-AD,
R20-87-AGD,
R20-87-AGF,
R3226-2,
R325-6,
R513376,
R513378

34 R400408 Bolt - Hex HD 1/2-13 x 1-1/2 2

35 R105-0418G Steering Arm Assy - Green 1

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces R&R Products Greens Max
ﬂﬁﬂ 2200LP Parts

Traction Unit
~ Steering Arm

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
36 R83-0810 Cover - Steering 1
37 R114-4672 Valve-Steering 1

R31-4160, .
38 R237-42 R339897 O-Ring 1
39 R340-2 R60-1920 Hydraulic Fitting - Striaght 2
R107-8844,
40 R237-22 R232-72, O-Ring 2
R237-78
41 R237-21 O-Ring 2
42 R340-92 Hydraulic Fitting - Striaght 2
3296-39,
R32127-25,
R32128-36,
43 R3296-39 R3296-17, Locknut - 3/8-16 Nylon 2
R3296-22,
R915663P,
R99-7443
44 R3290-477 R108473 Washer - Spring Wave 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces R&R Products Greens Max

gﬂ 2200LP Parts
Traction Unit

~ Steering Arm

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
3256-24,
453011,

45

RO1-166-0100,
RO1-166-0120,
RO1-166-0270,
R0O1-166-0500,
R0O1-166-0600,
RO1-166-0620,
R132-4593,
R237-12,
R24-10-AD,
R24-11-AD,
R24-11-BD,
R24-12-AD,
R24-12-BD,
R30-9310,
R32-8190,
R3256-24,
R3256-3,
R3256-36,
R3256-4,
R47-9950

R453011 Washer - Flat 3/8 SAE Y/Zinc 2

46

R3274-39 Screw - Button HD Soc Cap 6

47

R33103-016 R93-5919 Screw-HHF 4

48

3296-23,
R32127-29,
R32131-5,
R32132-5,
R3296-23,
R64229-05

RF5003 Locknut - ESNA 1/2-13 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




